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Name: KEV Date: Period:
Precalculus Section 6.5 Review

Formulas to know:
z=a+bi (standard form of complex number)

z=r (cos 6 +isin l‘)) (trigonometric form of complex number)

r=va +b’ lan():£

o
2,2, = 1y (cos(6, + 6,) +isin(6, +0,)) 22 B (cos(0, - 0,) +isin(6, - 0,))
Z, K

z" = r"(cosn@+isin nd)

Objective: To review operations with complex numbers in trigonometric form. a=-4
a= -3‘&. b=7
DO NOW: -
sl : _ ) ﬂ ~ b=-3
1. Write in trigonometric form:
a. z21=5i Q=0b=9S b. zz=—3\/§—3i c. z3=4+7i
r=S Vs (o =R | r=Ta%+9* = Uis
anol:.gt-g:llndf‘- me'=£=_-;_;’_§=_ul§ nno’:-qh‘:-‘z!
p=I o'=F 9= 9'= 1,05 or 0% oS
= (sn I T = Ugs (£0S 1,08 ++
2=s5teasT+i5n TN [0, (eos B+ sinZgr)|| & = Ves Sin 105)

2. Find [z3 )s. Write your answer in trigonometric form.

28=r"(tosnd + 15ANB) r=¢ Nh=8

= ¢8[eos (8-27) + 4 5in (&8.27)]

A - <
‘_%) A4 (cos z‘&?r'f"s’n :.?8 ) ¥ Svbwzot muery, ofz'-’for%ﬂ‘
+))¢ .

0%

I10°

= 1479 616 (Cos KT+ 4 30 L7)

Class practice problems: asl
p P b* 3
I. Graph the complex number and ﬁmil the trigonometric form: z =1 + 37
= Ja*+b? Tane'= 2 2= r(Cos®+4i3ine)

r=Jmrr@e | Tane TR =3\ (s 1,249 + i Sih 1.394)

- O'v 1.249
r = Jio 0T 0% 1249

2. Graph the complex number and find the standard form: z = 3(cos150° + isin150°)

st Ao 2= 3(--.‘%- + 4 (%)) N evala e
" . \T

o'=30 q:-}asz-i’.b l

b= %
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3. Write in trig form, perform the indicated operation, then check in standard form: (\/5+ i](l — .f')

2. a=d_3 %\ 22 a: : ‘%L»
b= )

‘o b Tane' = X

re JasTer rané & re Jas+o~ =

= JWE)2 + 12 tano' = i3 r= Jo2+mn* ane :

TR\G FORM % 2= r (€ose <+ L Sine) TP =
2=2(CosT +a SnT) Tzc Uz (03T +4sinT)
2,22= 00 [Cos(0,+6,) 4 4 5in (8, + 6207

- 2 . . .?__ _”‘
=20 [eos (24 T2) +i sinlF2+72)
4. Use DeMoivre’s theorem to find (2 + 2i)°

:

4.

—\

=

= 203 (Cos ST+ 4 Sin3F) Ry

r= V22 42t .mno": 4 ~.732 4+ 27324 | ¥ Check at
(2 Vg =20z | TANG =5

bottsm of P9

TR\G FORM % 5= (0s6 + L 5n8)

Zzar (@G + i E)

2" r"(cosnB +LSinnB) =202 Nn=C

2= (253)% [cos (¢-F) + 4 sin (ez) ]

= §)(Cos 3 + i sin 3T ) T
= 5200 + 4 (- @;u)
=(-5124

check!

3) (3 4a)(142)

U3 4JSLi+4 +42
= J3 & (W3+1)4A + -
S(V3-1) + (V34 a

e ,782 + 2.732 4 VYV answers matth
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